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Logarithm & Exponent Bingo

What is the value of log 1008 (©)

Forwhatvalue of AislogA=1 & '=A [S)

For what exact value of BisinB=1 &

If C =2Ipe4, then C is what value? 2.« =(C)

True or-fhe funchon f(x) = In{x — 4) has a y-intercept that is a
negative number. % Cé““\ =1.2¢

Solve forx:  loga(5x — 6) = 43= Cy—t L)( =,

If logsa = 2, then what is The value of Va? =4z} G Jic - (<]
Solve forx:  logs(7x - 3) = logs(4x + 9) _’2\,\ ~374x £ 4 =g
Solveforx: _Jndx=22  “u=e [xz(.fs] 7" —

Solve forx:  loga4(x + 1) =logs (7x - 5) L + <= Dy ¢
SEEN
What is the domain of y = loga(5 - x)¢. “"};3 qd 3 )
Covert to logarithmic form: 7m=30 > ko —x»-7 [i>

Solve forx: 2+ 3logs 4x = 8 \ %/, , ‘. (09,36=n \

What is the value of logs27 | |.S¢ ey, “ic= €
Solveforx: Inx-In2=1 In%=l A-ct |Suqf
Solvefora: logla-2)=2 o-r=iev {ler) e Uy
Find the solution(s) for this equation:

In(x =5)=In(2x+ 11) =In{x + 1) ‘E /(’{2,’5“8 /F/d

Solve forx:  loga(x — 3} +logs(x — 6} = Iog4(x) +loga(x - 5?)
What is the largest infeger that is less than log 852 () -

Fillin the blank with >, <or=:  10g1010,000 > In e

What is the value of logz(1/32) | :j

If log K = 2.5186, what is ihe vaiuve of K to the nearest integer? 335
Evaluate logs{1/1 6\

You bought an iPad for $499, which depreciates at arate of 7%

per year. Write an exponential model showing this and find

when the L/que will be about $300?3m’ r"{@ﬁ_(. %Ye

AR .51227 g@é‘“ ., bO[Z




Review Problems
A t/f-ﬂ. %V\SVM
I Wiite the formula for hatfife: 4= AL zZY

a. The isotope Hg-197 is used in kidney scans. It has a half-life of 64.128 h. After that fime,
half the isotope will have decayed. Write the exponential dgcay function fora 12-mg
sample. Find the amount remaining after 72 h. Y= ii‘?,( ‘A \17““}?' =55 mcs

b. The isotope 5r-85 is used in bone scans. It has a half-life of 64.9 days. Write the .
exponential decay function for an 8-mg sample. Find the amount remaining affer 100
days. \= ?(Jit‘)weé(ﬁ =2,7Tmg

2. Your parents give you $10,000. You place it in an account that pays 6.1% annualt interest
compounded continuously. How much will you have in 20 yearsg.Round the answer 1o the
nearestdoliar. | A=sCio, w0y @ (oFN (2> F33 §72. 0 7

3. Bram invested $10,000 in an account that earns simple 5% interest annually. Em:

’ How much interest does the account earn in the first 10 years? Round to the nearest
dollar. : e 2B9. O v

b. How much more would the account earn in interest in the first 10 years if the interest

compounded continuously? Round fo the nearest dollar. "

A=loan e (o521 (P £1
Write each expression as a single logarithm. £
log 4 +l0g.2 -log S

4, log8+log3 5. 4{logzx + logz 3} 6. 3logx+ 4logq 7.

Y K
oy 244 Log L(Bxf [0 4 ( o %
Expond each logarithm. ‘
8. logo 2x3y? 9. loge3mip2 10.  logb [4mn)?
[Of)bz*ﬁlOf;'o“ t 3,y logy 2 x Bogm - 2loqp 5log 4 Wosaa;w Slag 7
T e 12, log, & 13, log, ¥ | 7
2y 3 .

Ziony, - 1052 Fleguedingy -leg?

3{?“3)(

14. Use the properties of logarithms to evaluate logs 6 - logs 15 + logs 20. ] ( = 3 3
O s — L] QO
[

gX:ln7

. XX = p—
15. Solve: exex=7 l‘?ﬁ N x= LT

16. Determine whether the foliowing functions represent exponential growth or decay.

a9
c. y=185(y *

b. y=20(1.75)"

a. y=0.99 [g';

Identiify the decay factor:  y =1.85(.75) |- 5
18. What is the range of the graph y=2x+74
0
V>7 (7190
20. |dentify the vertical asymptote of y=log(x + 6} -2
ket {10y =5 [oe oy
6\1 Lo -~ T 1
X:’C { (52
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